O
O 12 Equations in one variable

Ce

< Practice Set 12.1 }

1.  Each equation is followed by the values of the variable. Decide whether
these values are the solutions of that equation.

(1)x-4=3, x=-1,7,-17 (2) 9m = 81, m=3,9,-3
(3)2a+4=0, a=2,-2,1 (4)3-y=4, y=-1,1,2

Solns-

O %-u=3 , ®=-1 F -7

FO’D’ x = ——l/
LS = -4
= —1 -4
= -5
+ RHS

Li#s = x—4
= F -4
= 3

RHS

(1



x= 7
e,qt,(abfon .

F‘O'zf x_:~7./

LHS = x -4
= -1+ -4
= —1lI
v RHS
v =-7 fs Dot the solwtion

given equabion.

@ 9w = 3l . m=23,9,-3
For m=8% |
LS = Jm
= IX3
= 07
4 RHS

°c e solution of bhe JIVEN

of the



For m =g |

L#S = Jm
= 9 x93
= @I
= RAS
. the 9\‘/3”
o [u-'hor) OF
n = 3 s Hhe SO0
e/qqaf;fon.

For m =-3

L#S = Jeo
= 9x-3
=-0%
_75 R HS
. the
3 fs pok the solution of
m = - !

given equation.

® 2o+y=0 *=2,-2,1
FQ'Y . = l/
LHS = 2o+ b
= (2xv +4

L+

[



FOoY o = —9
LHS = 2o+t
= (2x-2) +4
= -y +4
= O
= RHS
& =- °c the solution of Bhe g\ven
equation.
Fov o = |
LHs = 2o+ b
= (2x 1) +4
= 2 +4
- 6
F RHAS
o = |, s Dot the solvtion of the

9\\/80 e,quo.f?l'on,



Fov y=-1,
LHe = 3-J
- 9- (-1
= 3+
= 4
= RHS
y=-1 Ps the solwtion
equation.
Fov y= I,
LHe = 3-J
= 8- (1)
= 33—
= 2
£ RHS
y =1, s pokt the solution

given equabion.

of the



LHe = 3-JY
= 9-2
= 3-2
= |
¥ RHS

y =2, fs not He sol«tion of the

given equation.

2. Solve the following equations.
(1) 17p-2=49 (2)2m+7=9 (3)3x+12=2x-4
(4)5(-3) =30 +2) (52 +1=10 (6) 2+2% =2
(7)13x—5=% (8)3(y+8)=10(y-4)+8 (9) i:i:%

4 b+(b+1)+(b+2) _

(10)%+3y=4 (11) y 21

Solfs-

® 1?p-2 = 4y
Add 2 o6n both cides
3p ~ 2L +4 = kI + 2
[3p = S

Divide by [#, on both sideg



_ 5l

Vi - SI
Nz {
P = 3

@) 2+ + = 9
Subskract F  from both sides
Yo+ A -F = 9= F
Loy = 2
Divide by 2 , ON both Sfdes,
A o

_—

Z
2z Zx

(l

N l

(

3 3% +12 = 2® —4
Sobstroct Ax Hfrom both sides
AR + (2 —2% = ’%e—«L,——Q_/zé
X +12 = -4
SBubstract (2 f&wvm bobh eidec,

e+)f —1f = —h- 12



O

¥ = —1I6

5C(x-3) = 3 (»+2)

Se —15 = 3R+ 6
Substyact 2% from both si

G —lg - 32z = 3/44—6—'%

2% — 15 = 6

Add 165 on both sides
12— +18 = 67IS

22 = *I

Divide by 2 ,on bobb c’des

Y _ 2l

s 0
2l
® = T
¥ = [0-5
:6_32-4—! = (0o

)
ScbetYact | from both eides



Divide by g on both Si'clesl

Mul&ply beth sides by 21

3 T
— X —+ X UL =
l % | Y| p=

3y + #(y-4) = 4o

3y + Fy-28 =42



loy — 28 = 42

Add 28 on bots sides

[0y - %@/-{—%: G2+ 28

Divide by (0 on both seides,

3
|83 — 5 =— _2:

Add & or both eche,;/

|33€-—,g+/§ = %_4—5‘

Divide by (3 . 0n b0t sides

'd

/‘éﬁe_l_é_;\a
Wz -

]
T



X< 3

2 (y4+8) = lo (k&) +&

33y + 24 10y —40 +8

[l

3y + o4 loy — 372

Su-b.sl:‘{ac_t 8\_5 fom bo th e\"&es/
3 +ou- 9 = 10y -82 -3y
Q.Ll = 7‘:} -3

FTy-32L = 24

Add 32 on lboth efoles'

7, - 94 +37 = 24 +32




4
.
"
\
(o
%
()

5 (2-5)
T — 683 = 5= — LS5

Gobetyact Bx from both e(“des/

Fr-ci-s2 = 5% <25 -5k

92 —63 = -— 25
Add 63 on both e&ides
1>¢_/é+¢ _ _ 25+ 63
22 = 38

Divide by 2 , on both si’de\s/

dx o8
/’Z 2
¥ = |39

9y-4

T 3y = &4



Muwlbiply both sides b\y 3/

d_
HXZ y 3y X3 = L4x3

®

y—-—4 +39y = (2>
loy — L4 = [2_

Add ¢ on both eides,

log—4 +4 = 12 +§

103 = | ¢
Divide by lo , 0n both sides,
y _ 16
T Lo
16
J = o
y = -2
5

@ b+ (bt + (b+2)
Ly

2 (

|l



b+ b+ +b+2
I

:2_‘

3b +3
C.r

l\’)u.(-l:u'plj Leth, 6&ides by 4 /

3b+ 3 _ alxk
x;{ =
A
3, +3 = 84

Subebrack 2 froro both 6&ides




